REDRERR
ERREQF #1675 x TBTH IR

#IBERTIR A MXETH & ERRE #RIE TR A M XETH & ERRE
ibimE FLiR 160,000 RN MER™ 160,000
AR CEUT] 136,000 hRR Himth 160,000
=EF8 RE [ 136,000 EILE E T 152,000
=i E 1= 160,000 BIE ®IR™ 160,000
MER AT 136,000 BHER @ 152,000
L8 Lz 136,000 T R ffh 144,000
BER fBEh 144,000 RHE REm 144,000
B30 KA 144,000 Iz & 15 sz & 77 152,000
N FHET 152,000 FRiE R FRiE ™ 168,000
BHER HIE™ 152,000 FoiE R R 152,000
BER SV E™ 168,000 BHNE ATHET 176,000
FER FEH 176,000 =ER =437} 136,000
BRIRHD FREX 256,000 HEE KiEm 160,000
RIRHD X 216,000 RERRT R 176,000
BRIRHD EX 240,000 KB FF PN 200,000
RIRHR HER 208,000 pNTE ) 168,000
BRIRHD XREX 208,000 EER fE™ 192,000
RIRHR BRK 192,000 =RER =R 176,000
BRIRHD ZHRX 168,000 AL AT 160,000
RIRHR IRR 200,000 SHWE S 144,000
BRIRHD BIX 216,000 SRE WiTmh 136,000
RIRHR BEKX 208,000 fiE] L1 i (LT 152,000
BRIRHD KHRX 208,000 LEE IN=T ] 176,000
RIRHR HAARX 200,000 Lng o 128,000
BRIRHD AR 224,000 mER me™ 152,000
BRIRHR hEFX 184,000 FINR =1/ 176,000
BRIRHD F i X 184,000 FiRR TG 152,000
BRIRHR 25X 200,000 =R =% 152,000
BRIRHD X 192,000 12612 e 144,000
BRIRHR IR 176,000 12 R &R 168,000
BRIRHD R 184,000 EEHER EE™ 136,000
RIRHR HERX 184,000 RIEE RIGT™ 160,000
REEH BIRX 176,000 REARE REARTH 152,000
RIRHR B 176,000 K8 Ko 136,000
BRIRHD IR 184,000 =R =g 136,000
LB iR 192,000 EREE EREM 152,000
HE)INE N 176,000 paak G AEZ™ 160,000




